2 3 | 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |NEW RELEASE LJH 08/13/05’ Y% LJC 08/13/05
| ITEM | PART NAME Qty NOTES C | e ee jF YCH 07/18/08’ ~_ LJC 07/18/08’
—r— 1 PLASTIC HOOD | 2 | SEE P/N D [sn” s YCH 05/20/10° Y LJC 05/20/10’
=T 1 o  [21] tone souT 2 | #4-40 E [sowxzmmger w0 | YCH 08/30/10’ o LJC 08/30/10’
" H\{ - 2.2| SHORT BOLT 2 #4-40 F |ADD P/N CODE LIC 12/24/13 Y% LIC 12/24/13
I — 3 NUT 2 M3 | Short BOLT CHANGE | JLZ 03/13/15’ %
4 LONG SCREW 2 M3
NOTES:
24.99 5 SMALL WASHER 2 1. Hardwares are all Nickel plated.
6 SHORT SCREW 2 M3 2. PART NUMBER CODE:
7 METAL WASHER | 2 | M3 DS1045 = 03 X X X X X = XL
Hood Materials ®
30.8 A: ABS
12.0 B: Similar ABS
1 Washer type
L_|J 1: Metal
— ‘ — N
s A i e e
L ‘ L S: Short
| —Packing type
1: Mix packing
‘ © i Q: Full packing
‘ g 2
‘ H —————— Cover Material
|— ! P: Plastic(ABS)
|- B B I E 1 D -———Cover Color
‘ N ALL R * A: Gray
\ ‘ ‘ B: Black
V: lvory
t\lil;y Position
g T— SHORT SCREW 2 09: 9pin

14.3
‘ @ VQ._\ 18 M3 5
8 UNCH#4—40
2 AN
7.0 4—40 UNC 8 g ® 7 -
0 p= ) )
5 s o 5.40
| S| s | Short BOLT
w @ \ e I 7%7 NUT  t=2.3mm
M3
A_O»f I 11.8 4 o 5 480
| 6 2 0o N ‘
1 13.5 s \
30.5 N—— } &;é ‘
; 44
|
I Long BOLT LONG SCREW
SMALL WASHER
GENERAL TOLERANCE ANGLE TOLERANCE | PROJECTION | @ -&F | TITLE | 5-5UB Plastic Hood 180°
X.  +0.60 X. 45 UNITS mm 9 Posttions
X +0.38 S SHEET SIZE A4 | SERIES | DS1045 SERIES
XX +0.25 XX 2 .
DRAWING TYPE |COSTOMER =2 45;];] EE ? ﬁ‘ BE /A\ a
SCALE 11 _SHEET |1 OF 1 ° CONj;lFLY ELECTRONIC CO., LTD
DRAWING NO. |C—DS1045—09XXXXX—x—| | EORNFLY .
I 2 3 4 | 5 6 I 7 I 8




2 3 | 4 5 | 6 | 7 l 8

BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
’ A | NEW RELEASE LJH 05/18/05" ~ LJC 05/18/05'
TEM | PART NAME Qty NOTES C | memstmpiminge Rt YCH 07/18/08’ ~ LJC 07/18/08
P E— ! PLASTIC HOOD | 2 | SEE P/N D | Atk YCH 05/20/10’ ~ LJC 05/20/10’
“—m—“‘ o | 21| LONG BOLT 2 #4-40 E | ADD P/N CODE LIC 12/24/13 ~ LJIC 12/24/13"
| 2.2| SHORT BOLT 2 #4-40 H | Short BOLT CHANGE | JLZ 03/13/15 ~—
‘ 35.52 ‘ 3 NUT 2 M3 NOTES: _
39.2 4 LONG SCREW 2 M3 1. Hardwares are all Nickel plated.
* 2. PART NUMBER CODE:
5 SMALL WASHER 2 DS1045 — 15 X X X X X — ><L
6 SHORT SCREW | 2 [ M3 Hood Materials ®
7 METAL WASHER 2 M3 B: Similar ABS
Washer type
1: Metal
1 Bolt type
L: L
: \ Clotd
| \ | —Packing type
1: Mix packing
/ - Q: Full packing
COnne L———¢ Material
o - © 2 ® o Posta(0)
O 1~ 14.3 L———Cover Color
M ™ S 1.8 A: Gray
[ @‘%@ Ny UNCH4—40 B: Black
V: Ivory
—————— Position
{%} 15: 15pin
/
— Short BOLT
8.0
2
4-40 UNC 8 I
R v\
9.9 — \ £ LONG SCREW NUT  t=2.3mm
N> [,

~
o |O
(]
™
O
$3.98
4.3
—
.
~
00

. _ . 6 _

! Y, . 7.7 5 |

\ 30.5 M3 5.9 o _\ ;
44 N 3.0

7 5 Long BOLT > \é* §

w0 ) |

ol ‘ ! l i

T | f SHORT SCREW SMALL WASHER
& M3 GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION [ @--=F |TITLE | D-SUB Plastic Hood 180°
= X.  +0.60 X. %5 UNITS mm 15 Positions
%@% i 2-[ X +0.38 X £3 SHEET SIZE SERIES | DS1045 SERIES

11.0 XX +0.25 XX x2

A4
_ﬁ. DRAWING TYPE |COSTOMER @ }% ﬁ];] EE ? ﬁ BE Z\ a

SCALE 1:1 |SHEET [1 OF 1
(c]
DRAWING NO. =D 1025—15000cx—x—i| €@NNFLY® CONNFLY ELECTRONIC CO., LTD

' 2 3 4 | 5 6 I 7 I 8




2 3 4 o) | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |NEW RELEASE LJH 10/26/05’ ~ LJC 10/26/05
ITEM PART NAME Q'ty NOTES C | BEFEICHIRIIE 22 ] YCH 07/18/08’ ~ LJC 07/18/08’
54.0 1 PLASTIC HOOD 2 SEE P/N D W A f e AT YCH 05/20/10’ ~ LJC 05/20/10
47 04 5 |21 LONG BOLT 2 #4-40 E |[ADD P/N CODE LIC 12/24/13 ~ LJIC 12/24/13’
M. 5 ‘ 2.2| SHORT BOLT 2 #4—40 H [Short BOLT CHANGE | gz 03/13/15' ~
- 3 NUT 2 M3
| \ i 4 LONG SCREW 2 M3 NOTES: ,
! : 1. Hardwares are all Nickel plated.
-ltl'l: i :I'Iﬂ 5 SMALL WASHER 2 2. PART NUMBER CODE:
N T yj 6 SHORT SCREW 2 M3 A R R XLHood Materials ®
‘ 7 METAL WASHER 2 M3 2 M@} S o ABS
o, 1.8 . Washer type
S/ S UNC#4-40 1: Metal
8.0 N
7t ’4"37’ Bolt type
r L: Lon
! S: Shogr(
‘ Pock_'mg typ_e
i Short BOLT 5 il Preiing.
i —————Cover Material
' P: Plastic(ABS)
] l @ 7iovgr Color
of 3 T 5
i \ M3 Vi vory.
| ————————Position
‘ - 25: 25pin
[ i ’ T
= . \ . NUT  t=2.3mm
C ‘ ),
\ - &
40.8 5
4.8
4—40 UNC 8 n \ 5 ! [
—! | & | :
4.0 tj
6.6 3 o )
135 3 ¥
30.5
44 6
Long BOLT M3 &
SHORT SCREW
GENERAL TOLERANCE ANGLE TOLERANCE | PROJECTION @{} TITLE | D-SUB Plastic Hood 180°
X +0.60 X 45 UNITS mm 25 Positions
X :|:0:38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2°
»
DRAWING TYPE |COSTOMER }I% ﬁ]}] EE ? ﬁ I}E /A.\ a
SCALE 1:1 |SHEET [1 OF 1 o
DRAWING No. To—DSToas—25000i—x—H €onnFLy® CONNFLY ELECTRONIC CO., LTD
1 2 3 4 | 5 6 I 7 I 8




2 3 4 5 | 6 | 7 l 8

53

BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
: A |NEW RELEASE LJH 10/26/05' % LJC 10/26/05'
‘IEM ;CSWNAXEOD QZ‘V — 2%5 C | mmunimige ] F YCH 07/18/08’ ~ LJC 07/18/08’
LONG BOLT 5 #4240 D BN A I YCH 05/20/10' ~ LJC 05/20/10'
2 s s
SHORT BOLT 5 #4240 E ADD P/N CODE LJC 12/24-/13, ~N LJC 12/24/13
3 NUT 5 M3 H |Short BOLT CHANGE | yLz 03/13/15 ~
4 LONG SCREW 2 M3 Tososr:dwo(es are all Nickel plated
5 SMALL WASHER 2 2. PART NUMBER CODE: P '
DS1045 — 37 X X X X X — X
6 SHORT SCREW 2 M3 TTTT T Hood Materials ®
7 METAL WASHER 2 M3 g; S ar ABS
Washer type
1: Metal
Bolt type
8 270 T
= ® Vi pocking
14.3 Q: Full packing
A/J L8 L———¢ Material
UNC#4—40 P: P\osﬁc(AéS)
— L————Cover Color
— £ S
V: Ivory
—————————Position
i 37: 37pin
‘0 {f Short BOLT
4

M3

T

— NUT  t=2.3mm
12.05
4.8
> |
2 232 ‘ L [ ©
13.70 ‘ 4—40 UNC 2 o ‘\ T l o)
f 1 . \ ﬁ: i
[ ] SMALL WASHER
— N>
6.6 3 - ¢}
13.5 S g 9
30.5 % \ 9
44 — - —
Long BOLT
SHORT SCREW
Jh0 ‘ : GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @{} TITLE | D-SUB Plastic Hood 180°
18.0 /MS X. +0.60 X. 45 UNITS mm 37 Positions
J X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
o §}{E7“] XX +0.25 XX +2°
y »
9 DRAWING TYPE [COSTOMER @ JI% ﬁ]ﬁj EE; ? ﬁ I}E /ZA\ ﬁj
Metal SCALE 1:1 |SHEET [1 OF 1 o
2 3 4 | 5 6 I 7 I 8




4 o) | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A | NEW RELEASE YCH 05/24/11 ~ LIC 05/24/11"
B |ADD P/N CODE LIC  12/24/13 ~ LIC 12/24/13
C | Arrange Drawing JLZ 10/09/14 ~~ LC 10/09/14
69.50 D |[ADD LOGO JLZ 12/17/14 ~
61.00
NOTES:
1. Hardwares are all Nickel plated.
2. PART NUMBER CODE:
DS1045 — 50 X X X — X
LHcod Materials®
A: ABS
B: Similar ABS
1 Packing type
11,10 53.80 \ 1: Mix packing
Cover Color
CR i > ] [N A A: Gray
\ B: Black

45.90

49.79

12.72
3 &
A
BOM LIST
ITEM PART NAME Q’ty NOTES

1 PLASTIC HOOD 2 SEE P/N

2 BOLT 2 #4740

3 NUT 2 M3

4 M3*10 SCREW 2 M3

5 M3*12 SCREW 2 M3

6 BIG WASHER 2 M3

Cover Material
P: Plastic(ABS)

Position
50: 50pin

3
M3
& -

NUT  t=2.3mm

#4.0

6.0

UNC#4-40 & Y
5.0

4
J11.5
&7 o

LONG SCREW
6
5
3 3.5
o T
o J |
9
§
LONG SCREW BIG WASHER
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @ﬂ TlTLEl D-SUB Plastic Hood 180°
X. +0.60 X. +5° UNITS mm 50 Positions
X +0.38 X 13 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX 2

DRAWING TYPE [CUSTOMER

SCALE 1:1

[SHEET [ 1 OF 1

DRAWING NO.

C—DS1045—-50XXX—X—-D

= T R A

connFLy® CONNFLY ELECTRONIC CO., LTD

4 |

5 6

I 7

| 8




X-ON Electronics

Largest Supplier of Electrical and Electronic Components
Click to view similar products for D-Sub Backshells category:
Click to view products by Connfly manufacturer:

Other Similar products are found below :

600X 54009X 600X56025X M85049/6-38N M85049/86-12N03 70.350.0636.4 72.350.1035.2 73.359.4035.3 747534-2 829472-1 PCS
E20W 970-015-040R011 971-009-040R011 DD-C4-J13-S1 DPH-B-003 165X02659X 165X10899X 165X11689X 165X13169X L171373
971-037-040R011 300X11139X 165X00809X 165X11629XE 165X17189X 300X10179X 500-047M37H 500T010J21H08 557-083B1
557B316M535TB8 557E316M536TB6 557S283NF1A05 557T0/7INF131SB 55/T113M232B 400FSO001M2410F2 DA-C8-J10-F1-1R DB-
C2-J9R DB-C8-J10-F5-1R 419-2080-502 DC-C8-J13-B1-1R DMHEOO01 500-016NFO9EN 500-01/M51FN 500T010M 15E08
500T010M15H06 500TO010NF15B08 500TO10NF15H08 500T012M21E 507-146M31EC 05/-3006-011 550T003NF1R4KOFO3



https://www.xonelec.com/category/connectors/d-sub-connectors/d-sub-backshells
https://www.xonelec.com/manufacturer/connfly
https://www.xonelec.com/mpn/conec/600x54009x
https://www.xonelec.com/mpn/conec/600x56025x
https://www.xonelec.com/mpn/glenair/m85049638n
https://www.xonelec.com/mpn/glenair/m850498612n03
https://www.xonelec.com/mpn/wieland/7035006364
https://www.xonelec.com/mpn/wieland/7235010352
https://www.xonelec.com/mpn/wieland/7335940353
https://www.xonelec.com/mpn/teconnectivity/7475342
https://www.xonelec.com/mpn/teconnectivity/8294721
https://www.xonelec.com/mpn/hondaconnectors/pcse20w
https://www.xonelec.com/mpn/hondaconnectors/pcse20w
https://www.xonelec.com/mpn/norcomp/970015040r011
https://www.xonelec.com/mpn/norcomp/971009040r011
https://www.xonelec.com/mpn/jae/ddc4j13s1
https://www.xonelec.com/mpn/belfuse/dphb003
https://www.xonelec.com/mpn/conec/165x02659x
https://www.xonelec.com/mpn/conec/165x10899x
https://www.xonelec.com/mpn/conec/165x11689x
https://www.xonelec.com/mpn/conec/165x13169x
https://www.xonelec.com/mpn/amphenol/l171373
https://www.xonelec.com/mpn/norcomp/971037040r011
https://www.xonelec.com/mpn/conec/300x11139x
https://www.xonelec.com/mpn/conec/165x00809x
https://www.xonelec.com/mpn/conec/165x11629xe
https://www.xonelec.com/mpn/conec/165x17189x
https://www.xonelec.com/mpn/conec/300x10179x
https://www.xonelec.com/mpn/glenair/500047m37h
https://www.xonelec.com/mpn/glenair/500t010j21h08
https://www.xonelec.com/mpn/glenair/557083b1
https://www.xonelec.com/mpn/glenair/557b316m535tb8
https://www.xonelec.com/mpn/glenair/557e316m536tb6
https://www.xonelec.com/mpn/glenair/557s283nf1a05
https://www.xonelec.com/mpn/glenair/557t071nf131sb
https://www.xonelec.com/mpn/glenair/557t113m232b
https://www.xonelec.com/mpn/glenair/400fs001m2410f2
https://www.xonelec.com/mpn/jae/dac8j10f11r
https://www.xonelec.com/mpn/jae/dbc2j9r
https://www.xonelec.com/mpn/jae/dbc2j9r
https://www.xonelec.com/mpn/jae/dbc8j10f51r
https://www.xonelec.com/mpn/itt/4192080502
https://www.xonelec.com/mpn/jae/dcc8j13b11r
https://www.xonelec.com/mpn/belfuse/dmhe001
https://www.xonelec.com/mpn/glenair/500016nf09en
https://www.xonelec.com/mpn/glenair/500017m51fn
https://www.xonelec.com/mpn/glenair/500t010m15e08
https://www.xonelec.com/mpn/glenair/500t010m15h06
https://www.xonelec.com/mpn/glenair/500t010nf15b08
https://www.xonelec.com/mpn/glenair/500t010nf15h08
https://www.xonelec.com/mpn/glenair/500t012m21e
https://www.xonelec.com/mpn/glenair/507146m31ec
https://www.xonelec.com/mpn/itt/0573006011
https://www.xonelec.com/mpn/glenair/550t003nf1r4k0f03

